H & 0l & AHS B Ml A

FA: 2
a2
ctelr sdst dojzel (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SFu 82,749,875 80,130,671 2,619,204
= 37,803
Albl 86,545
Tl 82,625,527
&2el 2,000 0 2,000
Sdst "2 2,000 0 2,000
dHael 24 2,000 0 2,000
203 HF=AH] 2,000 0 2,000
03 A= PR F&IH| 2,000 0 2,000
odHgFR =N 2,000,000 2,000
YA Lo 6,651,502 7,532,376 880,874
= 37,803
Altl 86,545
Tl 6,527,154
s gy 3,818,566 3,367,442 451,124
QIAt2E 61,691 47,903 13,788
201 =3 28,100 14,250 13,850
01 At2t2lt] 28,100 14,250 13,850
OClArZel MAL M2 2,040
dEY £ 48 2
6,800 *3000H 2,040
OLIMNEEE coINESH E
190,000 4 H 760
OLIANZtA ARES S 3,800,000& 3,800
OLIAIRIEE T2 M 1,000,000& 1,000
OdllsFasdd A2ZH| 4,000
SRES & 223 20,000 200K 4,000
OYJINERE WE eHE=E
1,100,000& 153 16,500
203 HR=H] 3,386 3,386
03 A=A 2= 3,386 3,386
OLIAF=REe = 1,800, 0002 *90% 1,620
OXBY T ALy 1,962,000 *90f% 1,766
308 AtXIEHMSOIE 30,205 10,855 19,350
183 SIS U ZB XA AIE 30,205 10,855 19,350
OXNICH EEXYAAZEAIAE S 2t
S 30,205,000 30,205
AP wWIII2 M3 347,528 351,528 24,000
201 er23| 237,528 241,528 24,000
01 At2tltl 237,528 241,528 /4,000
OXE wedEA 1,428
INEEAPAN 7,0008 x5+ 122 420
AN 7,000 x5+ 122 420
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Hu: simolet 243
el AEsE g (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
PAPNESES: 5,000& 55+ 123 300
=Ryl 8,000&x3F+12& 283
OXMuE ZAt=E 700,000 52 3,500
ogssals A5uUs
400, 00024 %524 %23 4,000
OB 90| 228,600
SAMBOAl QTN
140,000 *180H 25,200
- SASREU=H 240,000 »130H 31,200
6= FIIN=E 6,500,000 x2H 13,000
55 S HE 950,000& 10 9,500
HNAsHEY NS
149,700,000 149,700
202 04| 110,000 110,000
05 SR W04 110,000 110,000
OZ2% u=s ol 110,000
- SY  EPI 340,000 »130H 44,200
LR QT
140,000 %180 25,200
58 sdA HE 3,700,0002 10 37,000
(68 A= 1,800,000 x2H 3,600
ZHAD| A 568,550 305,576 262,974
101 @124H| 63,344 67,021 A3,677
M ORIMZZ2NSE S 63,344 67,021 A3,677
O=AA S M= 63,344
IAYI (FEXEE)
88,2723 x 153 »43& 56,936
20l0i3PERLS
56,936,000 *4. 5% 2,563
 FAYBERLYD
56,936,000 +3.545% 2,019
- IE2ERES 56,936,000& *1.75% 997
MHESRES 56,936,000 1% 570
LA RYEHERES
2,019,0002*12.81% 259
201 er23 | 66,306 44,120 22,186
01 At2teltl 32,610 31,760 850
OEAN S22 M= 200,000 %30 6,000
Oo=EH MH 12,0002 60004 7,200
OSFE A SR
3,000,000& 3,000
OZBRALZARA 298 X 730
2HES(EH & SALEX)
250,000 250
=)l HERS 40,0002 123 480
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FA: SF
Hu: simolet 243
el AEsE g (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OttMeEg= 185,000&%1,413Y 261,406
203 HE=H| 810 810
03 A= LR F&IH| 810 810
OLZHA AR =8
900, 0002 *90f% 810
307 @I2t01 & 239,580 190,000 49,580
05 2IR”IRIE = 239,580 190,000 49,580
ONFBRE AR0} DI2tIEt
239,580,000 239,580
309 HE= 1,000 2,053 21,053
(2 BLANSABLIAHES 1,000 2,053 A1,083
0T HosN2 223
1,000,000& 1,000
Hl&tCHHl & 2 Al 79,896 49,936 29,960
201 fer= 3| 9,8% 9,936 A0
01 At 2|l 9.8% 9,936 A0
OoHlgtitlgd =& 200
=2HY 8 S 200,000 200
O gdAEEd SAHI 6,696
SAt=%s dlgay 6,696,000& 6,6%
ORXHMUIACHHl A=A HIZ
3,000,000& 3,000
308 XtXIEMSO0IE 70,000 40,000 30,000
2 obzZsSd A 4EX 70,000 40,000 30,000
oublzsd A& 70,000
Gl et PART=) 45,000,000 45,000
tolZedd A2 N
500,000% 502 25,000
PN 2,575,446 3,905,644 1,330,198
= 37,803
AltI 86,545
Tl 2,451,098
AHESAH 2CIUIOIE XA - |4 79,402 75,538 3,864
= 33,200
Tl 46,202
307 212+01& 79,402 75,538 3,864
= 33,200
Tl 46,202
05 2IZtAE = 79,402 75,538 3,864
OXHEE AL 2LIUI0IH e1AHI(2)
79,402,000 79,402
= 33,200
Tl 46,202
NASAHIE RS&SA 2124 K& 39,422 37,830 1,592




2A:

Hu: simolat 243
&t XSy P28 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 16,645
Tl 22,777
307 lztol & 39,422 37,830 1,592
AlHI 16,645
Tl 22,777
05 212t =S 39,422 37,830 1,592
ORHSMHE STALT Q12AHI(1Z)
39,422,000 39,422
AltI 16,645
-l 22,777
A2 SAHHE 2 A& 75,125 73,606 1,519
Alt] 18,500
Tl 56,625
307 elztol & 75,125 73,606 1,519
AlHI 18,500
Tl 56,625
05 21t =3 75,125 73,606 1,519
OXNESAIE 2gH| X2
38,225,000 38,225
AltI 8,000
-l 30,225
ONASAHIH 2208 24| X
36,900,000 36,900
Alt] 10,500
Tl 26,400
A SAHAE 215 K& 93,430 89,634 3.7%
307 el2tol & 93,430 89,634 3,79%
05 2I2tRIE =S 93,430 89,634 3,79%
OXH2SAtHIE Q1= oI24H| X2 (2%)
93,430,000& 93,430
d= SE ANESA 28012 MblA X 10,128 10,128 0
= 4,603
Tl 5,525
307 elztol & 10,128 10,128 0
= 4,603
Tl 5,525
05 2IMRIE =3 10,128 10,128 0
ONESAA 282 A&
10,128,000& 10,128
= 4,603
Tl 5,525
HH 2N S HatEs 6,550 7,180 2600
Altl 3,400
Tl 3,180




A B2
Hu: simolat 243
ol IXEE e (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 6,550 7,180 2600
AlHI 3,400
Tl 3,180
01 At2teltl 6,550 7,180 2600
OHsd EMcHA Hat & 25
3,400,000 3,400
AltI 3,400
OstZdHl =378 = 3,150,000& 3,150
FUSE 2Ael 133,977 127,184 6,793
201 er=2 3| 105,931 100,484 5,447
01 AtR2te|HI 102,040 9,216 5,824
OFUSEZ U2A0E 3,680
 FOISEEHOINEG AL/
14,0003 105+ 1601 S 2,240
HHEI(FLUSES M= JIM)
6,000« 151 *160H = 1,440
OFUSE HLARSE 17,600
SES=IN 35,0003 * 102t Ax 1600 S 5,600
Sx=gsE EUIELCIX
250,000& 3= 169 = 12,000
OFuSES 23
4,7502%1,4000K = 122 79,800
OFUEE 925x E92 A
30,0003 * 1674 S22 960
° ZZ2H| 3,891 4,268 ABT7
OF0SE Poggl 2528
2,571,000& 2,571
OFLUSESELZE 28
5,000 228t Ax 123 1,320
308 AtXIEMSOIE 28,046 26,700 1,346
13 SI[2S0HE & EAS A 28,046 26,700 1,346
OXMItH FRISEZEANAE 28
28,046,000 28,046
MOFES X2l AIREXeIE 21A4H] XI& 32,000 28,000 4,000
AlHI 16,000
Tl 16,000
307 elztol & 32,000 28,000 4,000
AltI 16,000
Tl 16,000
03 PIZAHHEE 22X 32,000 28,000 4,000
OMOIEXE AIREX01E elA4d] XI&
32,000,000& 32,000
Albl 16,000
Tl 16,000
ARIEE 44,270 42,270 2,000




A B2
M sHoZ U3
&t XSy P28 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
203 HR=H] 5,670 5,670
03 A=A 2= 5,670 5,670
OARI T E eR=a 6,300, 0002 *90% 5,670
301 LEtE N = 5,000 3,000 2,000
11 #AIAHIXIZ S 5,000 3,000 2,000
O&= MOSXEXtEl &4 ol
200,000 %25 5,000
307 212+01& 33,600 33,600
02 LB HAHE L 24,000 24,000
OFUFN X WEE At
6,000,000 *42] 24,000
05 212t =S 9,600 9,600 0
OMOIEZL DS (12i22)
105,000 x4 420
OMOISE Y DS (22132)
204,000 +45% 9,180
Nite2s 84835 X2 88,732 86,732 2,000
307 glztol & 88,732 86,732 2,000
02 LB HAHE L 47,372 45,372 2,000
OMil==2s gdat XI&
47,372,000& 47,372
03 PIZHNEE 22X 41,360 41,360 0
OMUO=XIa 2g8l X
41,360,000 41,360
iENdII2S 24t N 62,600 48,700 13,900
Al 16,000
Tl 46,600
307 glztol & 62,600 48,700 13,900
AlH] 16,000
T4l 46,600
02 2B YA E X 30,600 30,600 0
Oott=daizs gdat N3
30,600,000& 30,600
03 PIZAHHNEE 22X 32,000 18,100 13,900
OttEAge= =224l A&
32,000,000 32,000
Altl 16,000
Tl 16,000
AREHY =4 X2 59,700 55,700 4,000
AlHI 16,000
Tl 43,700
201 er2 3| 2,400 2,400
02 S3=4gl 2,400 2,400
OHMAIRY S32= 2,400
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Hu: simolat 243
ol IXEE e (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
SRS o] ey = 50,0003 +6& 300
&M= 175,000& «12& 2,100
307 gI2Hol ™ 57,300 53,300 4,000
AltI 16,000
4| 41,300
02 QIZHBAAIEER 25,300 25,300 0
ONz3HY 54 X2 25,300,000 25,300
03 QIRIEHHE2EHIB X 32,000 28,000 4,000
OX2EAHURIS 24| XA
32,000,000& 32,000
AltI 16,000
sl 16,000
IR Sdes XN 61,600 63,600 A2,000
307 gI2Hol ™ 61,600 63,600 A2,000
02 QIZHA A AL E X 61,600 63,600 A2,000
ORIZIEHH Sdas K&
61,600,000& 61,600
SHZ LKA XI&AKS 12,000 8,000 4,000
307 212+01 A 12,000 8,000 4,000
02 QIRHEAAIH B = 12,000 8,000 4,000
OY A TloHXt XI&AHS 12,000,000& 12,000
“E2Y 631,412 569,204 62,208
101 2124 d| 18,538 17,766 772
M I1RINZ2Z2XsEs 18,538 17,766 772
OFH4 JIZ2HHZ2 2 Xt 18,533
oI (FE XY &
88,2723 x28 «63 14,830
A2t 2SR5
16,5512 x13 Al 2H+63 1,291
- HEFOHI 300,000 300
- SAEQIE 300,000& 300
- ROIHZEEHEIEYS
16,121,0002 *4.5% 726
I0IAHAEEHREZ
16,121,000 *3.545% 572
- NESERES 16,121,000 *1.75% 283
AHHIEEREZE 16,121,000 * 1% 162
Lo QUASEHRES
572,000&*12.81% 74
201 L2 | 42,250 31,690 10,560
01 Ar2eltl 42,250 31,690 10,560
O=RdAN 22 S HF
4,050,000 4,050
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SN B2
I SUAE ol ol
Chel ECHAFRITHGH OHREAHBRINN 2= (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 53,325 60,416 7,091
Ooutgd 229 =& 450,000& 123 5,400
ostdEs Y 10,000,000& 10,000
OdEAHN= 10,700
SML S W= 300,000 *432] 1,200
2e|2d=L S WS 190,000& +50& 9,500
OMOIF A S| 2
200,000 *43] 800
OAEE A8t 13,000,000& x12] 13,000
ONE HNels2=
3,000,000 #22 6,000
OS24 S| 22,5003 %330 7,425
203 HR=AH] 900 900
03 A= PR F&IH| 900 900
OSUA Al o gRFd
1,000,000 *90% 900
HY2HAH(SR) 76,042,148 72,536,979 3,505,169
el 2| 75,560,429 72,082,774 3,477,655
oIA2HHI(XtA) 75,560,429 72,082,774 3,477,655
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202 O] 57,120 57,120
01 AL 57,120 57,120
OJlz=g R0l 57,120,000& 57,120
208 2R =ZIH] 133,085 123,5% 9,550
01 J1 22824 89,427 79,697 9,730
SR E RS 89,427
RRC=ESS 57,000,000 57,000
2R 33,030, 000& #90% 29,727
AR E=H 3,000,000 *90% 2,700
02 SR IRHH 2= 39,230 39,410 A180
OFIINLLETY) 39,230
100 DHXI 80,0002 «100H 8,000
- 101Z~300& 60,0002 +200H 12,000
- 301246003 45,00024+300% 18,500
- 60124800 30,00024+191% 5,730
M BA2LLIFAH| 4,428 4,428 0
ORNM2IHRFAHI 4,920,000 *90% 4,428
204 2P FH| 119,400 115,200 4,200
01 MR | 119,400 115,200 4,200
SEEEERS ET] 119,400
238(7EE) 650,000« 1H 122 7,800
32(2RE) 600, 00024 %124 1224 7,200
4=2(+,23]) 350,000& 7 H+ 122 29,400
42(BAL) 400,000211% 122 4,800
53 (S, At L) 150,000& x18F » 123 32,400
537,25, 22 2)
100,00024+31 2+ 122 37,200




2N ES
M XN
=)
=

h9l: Dl

RA - I BRA(E) - HRA - BES of vy A

-6=(23l) 50,000 18122 600




